ERRARORSIERT —5 X—2ZJBIS

g—F

2023511848 () 3ER#1H

=55 28752 YSR3ME (BS) 4 5% &8 (w8 | el - | 2 o0 ®
[®E<] 1 7%& 15,500,000 @  23&:6,200,000 @  33&:3,900,000 @ 4 3&:2,300,000 5 3&:1,550,000 H
B\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
= 2 4 4 | ERR— 1:59.2 7-7-8-8 |33.4]101.8| 2 466 | RHEET (FR)
117/ 8| ZAYRLR 56.0 =) ¢g) | @) FrOvhTr—L
RIE-UR B:7ES /=Y ITr—1L
- L) : 34 TEES &
20111 [FE/FNATYUT IR ¥ 1'(529)'6 AEan el Eal I (_Tf) AT
RIN—EVIr— BV ROIUT #HBI7—L
= it 3 | BEEN 1:59.7 9-9-10-10 | 33.7 | 9.3 | 7 | 440 |HEE (ER)
3 6 JUND=/1] 54.0 (3/4) (-p0) | BHEEEX
RiFIYUTSvT B:FvIFaxNG HBEIT7—L4L
= = % 4 | M. FLA—O 1:59.8 2-2-4-5 |34.3|95.2 | 3 | 458 |BEA— (FR)
4 4| ARITAARATATRA 56.0 &) o |. @B #HBEL—2h—2
RIN=YITS5A4 B:byTFHAI HEIT7—L
33 1)~ 4% 5 | BEXT 1:59.9 3-3-6-7 |34.3| 9%.1| 6 450 | EAEFT GRR)
5189 |¥Y¥YYTPUI=UY 5.0 (3/4) a | G1i-vvs
RIRU—LYp—=— BARANU—FT—UY EHTF—L
% 'S~ s 5 | FOHEZ 2:00.0 5-5-3-3 [ 34.7] 92.0 | 9 48 |BLEHE )
6l5|5 | EY Y= 5.0 (3/4) gy | B8 B5TLYRIST 5747
R:ZAIU—=vbe—0O— B/ xFUVER EvIUy RI7—LA
~)=—3~ 4t 5 | BIRPE 2:00.0 6-5-6-5 |34.5| 92.8 | 5 206 | BBIEX (FH)
7|8[10| 7 1¥==3Y 5.0 1) @) | &) oA
RS IV IT 4 BEALSTU—TPA AZEY1—T7—L
=3 B 5 | EERR 2:00.1 9-9-1-1 [35.1|91.1 | 8 | 492 |RHET FER)
8177|277 56.0 (3/4) © | ® FroOvhIrz—i
RE—UR B:Y1E— /=Y Tr—1L
. P < WERS : -7-8- NEE (FR)
9 3| @EILR—RT (= i 5 e 2(.30/04.)3 7-7-8-8 | 34.5| 89.8 | 10 (4+526) II}IIJ%}E:
RiW—5—IvF BEYVITTs—Y tENEKE
T s 4 | HLEAF 2:00.3 1-1-2-2 [35.1] 89.0 | 4 49 | HAEE &R
100 2 | RU—r—F2 5.0 e o | SAFIU=Z—2 @)
RiFRXF B:F4—IANU— SET H RS
[ BN
En'y 45.5-34.2
NOY9IA L | 13.0-11.9-12.7-12.7-11.8-11.6-11.3-11.5-11.4-11.3
@ I1—JF—BEBIEfI
13—7F— 2,4(1,9)5,10-(3,8)-(6,7)
20—73— |2,4(1,9) (5,10)-(3,8) (6.7)
30—7+— 7,2,5(4,1) (10,9)-(3,8)6
43—F— 7,2,5,1(10,4)9(3,8)6
o ILRE
B B 8 3708 | [ 94 R 1-8 260M AR 1-7 470M 3EE 1-6-8 2,680M
BB 8 150F9 6-8 1,080 F5 EE 1-8 500 3EE 8-1-6 11,730
1 120H 1-6 1,020 o= 8-1 1,030
6 400

ABIC OV TRUTEREERRODDZE. THRIIZEL.




